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FACTORISING TRIGONOMETRIC EXPRESSIONS

u) Self Tutor

Factorise: a cos?a —sin®a b tan?6 — 3tanf + 2
a cos? o — sin® «
= (cosa + sina)(cos a — sin @) {a® —b* = (a+b)(a —b)}

b tan?6 — 3tan + 2
= (tanf — 2)(tanf — 1)

{#2 =3z +2=(z—2)(z — 1)}

) Self Tutor

Simplify:
2 —2cos? 0 cosf — sin 6
2 — 2cos? 0 cos@ — sin 6

1+ cos® cos2 6 — sin” @
~ 2(1—rcos?6) - (cos 8 —simd)

1+ cosé (cos 0 + sin 0)(cosB—=sind)
_ 2(1 +eos0)(1 — cos0) - 1
a (1 +eosb) ~ cosf +sinf
=2(1 — cos )

EXERCISE 11C.2

1 Factorise:
a 1—sin?6
d 2sin? 3 —sing
g tan?f +5tand + 6

2 Simplify:
1—sin?a
a ———
1 —sin«

cos? ¢ — sin? ¢

cos ¢ — sin ¢

3 Show that:

o o

1

N

(1 —cos@) (1 +

d (1+

sin @

cos 6

(cos@ + sinf)? + (cosf — sinf)?
(2sin 6 + 3cos0)? + (3sinf — 2cosh)?  simplifies to 13

)

2O£—COS2O£

2cos ¢ + 3cos? ¢

sin

h 2cos?6+ T7cosf+3

tanZ8 — 1
tan3 + 1
sina + cos «

2

sin® a — cos? «

simplifies to 2

simplifies to tan#sinf

! ) (sin@ —sin?@)  simplifies to cos? 6

tan?a — 1
3sin? 6 — 6sin 6

6cos?a—cosa—1

cos? ¢ —sin? ¢
cos ¢ + sin ¢
3 —3sin20
6 cosf



